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Substitution
3.3

Recall:

2a=2x%a=(2)(a)

» This means that the operation between the coefficient (the number) and the
variable is always multiplication.

. |Evaluate each expression:

L1 x+5  whenlx=10]
103

(5]

L2 2a+6 whenfg=-5]
A(-5) + 0
-10 +©

@

L3 sx+15+3x when(x = —4]
-rGLJ}HS + 3(-4)
4 +i5+ (213)

-

L4 (»?+12)+7+5y  wheny=-3
((-3»)1+ (2)=3+5(-3)
(9 +12) + 3 +5(-3)
A <3+ 5(-3)
3+6__(-3)

34CI5) — [=13)




. Evaluaté each expression:

L1

Tx+ 5y  whenfx = ﬂ]an

H+5()
“l[+ 10

(4]

L2

2a—6b+1 whenga=—1)and‘b=7[
2(-1) - 6(3) +1
-2-b(?)+ |
~2- 43 +l

—~4Y4 41

=431
L\

L3

3x + 15+ 3xy when fx = 4/andly = —2]
3(4)+1S + 3(4)(-Q)

[+ (D% 3(4)(-2)
Q¥+ 1A(-2)
Ly 15 E (2ad)
i
2% + (24)
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Y
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F e

L4

3420)+745 —e
QNI whenfy = =3andlz=11]

sza r20)< 3 + 5 (1)
H4(-3)
ta‘ﬂao); F+5S(1t)
~] &

~F+F+S(u)
-l
-1+ S(n)
-2
-14%55
- [

=9
SY = |-H4H.S or

=12
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